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Introduction
During RAN WG4 Meeting RAN4#101-bis-e, TR 38.863 has been updated with a dedicated section 6.4 and related sub-sections presenting a down selection from the (complete set of) NTN coexistence results submitted by the different contributing companies. 
However, it is not always clear which throughput loss value is the worst case and why, and which should be the averaging ACIR method to be considered. It is not clear for instance if the ACIR values (at 5% or 5%-tile throughput loss) with too high variance from the others should be excluded (and the threshold to do that), or the exact averaging method to be employed. For instance, it is not clear:
· if the average between companies ACIR values should be based on the mean of the throughput loss, 
· if the average between ACIR values should be the mean of all companies ACIR in linear, or 
· the mean of ACIR in dB (the current used method, which mathematically speaking does not make sense), or
· if the mean is done between both 5%-tile and 5% throughput loss values, or separately.
Of course, there are several methods to perform selection and averaging and several TRs used for coexistence and employing different selection and averaging methods (e.g. TR 36.942, TR 38.803, etc.).
Moreover, a short comparison between non-AAS and AAS results shows that in some cases non-AAS is worst and in some other cases AAS is worst scenario. 
Table 6.5-1 Average ACIR values for each scenario
	Scenario
	1

	2
	3
	4
	5
	6 avg.
	6 no avg.

	ACIR value [dB]
	TN BS with AAS
	23.18

	28.03
	23.32
	28.11
	26.43
	[TBD]
	[TBD]

	
	TN BS with non-AAS
	27.96

	29.49
	22.66
	21.66
	4.49
	[30.68]
	[36.70]



It seems therefore difficult to have clear decision of which scenario is the worst case, since it seems that the decision of the worst scenario in RAN4#101-bis-e was taken before looking at all consequences of the selection and averaging method being actually employed in further steps (and required for the computation of ACLR and ACS values). For instance, TN BS with non-AAS seems worst case at least for Scenario 1, Scenario 2, Scenario 6 (almost half of the scenarios), and not only for Scenario 6 as currently described in TR 38.863.
Discussion
For all the reasons explained before, we hereby propose a clear definition of the value selection and averaging algorithm between companies, and we propose the following algorithm (as also being explained in R4-2203112, “Email discussion summary for [101-bis-e][307] NTN_Solutions_Part2”):
1) Consider only results that do not have much variance with respect to other companies’ results.
2) We should not take the worst value (of a company) into account if the value at 5% throughput loss is 10 dB higher (or lower) that the average of the other companies. For this case, the throughput loss shall not be used to compute the average throughput loss.
3) We cannot have a conclusion if only one company submitted results. We need at least 2 companies providing results for a Case.
4) The correct average methodology between different companies should be (according e.g. to TR 36.942):
i. independently done for each scenario;
ii. the average should be done on throughput loss (based on different throughput loss between the companies), and not on ACIR;
iii. a new curve representing the averaged throughput loss (between selected companies) should be obtained;
iv. finally, a (new) ACIR value is obtained at 5% throughput loss from the average throughput loss previously computed.
Moreover, RAN4 should not consider the worst case value (of a company) into account if the value at 5% throughput loss is 10 dB higher (or lower) that the average of the other companies. For this case, the throughput loss shall not be used to compute the average throughput loss.

Based on this discussion and proof, this contribution derives the following proposals:
Proposal 1: RAN4 should consider defining a clear selection and averaging algorithm between different ACIR values (at 5% or 5%-tile throughput loss) from different companies.
Proposal 2: RAN4 shall consider using the following algorithm for averaging throughput loss results between different companies:
1) Consider only results that do not have much variance with respect to other companies’ results.
2) We should not take the worst value (of a company) into account if the value at 5% throughput loss is 10 dB higher (or lower) that the average of the other companies. For this particular case, the respective company throughput loss shall not be used to compute the average throughput loss.
3) We cannot have a conclusion if only one company submitted results. We need at least 2 companies providing results for a Case.
4) The correct average methodology between different companies should be (according e.g. to TR 36.942):
a. independently done with respect to each scenario;
b. the average should be done on throughput loss (based on different throughput loss between the companies), and not on ACIR (dB or linear, especially if the values are too different);
c. a new curve representing the averaged throughput loss (between selected companies) should be obtained;
d. finally, a (new) ACIR value is obtained at 5% throughput loss from the average throughput loss previously computed.

Proposal 3: RAN4 should not consider the worst case value (of a company) into account if the value at 5% throughput loss is 10 dB higher (or lower) that the average of the other companies. For this case, the throughput loss shall not be used to compute the average throughput loss.

Conclusions
Evidence was provided, as being asked in RAN4#101-bis-e. RAN4 is further kindly asked to take into account the following proposals:
Proposal 1: RAN4 should consider defining a clear selection and averaging algorithm between different ACIR values (at 5% or 5%-tile throughput loss) from different companies.
Proposal 2: RAN4 shall consider using the following algorithm for averaging throughput loss results between different companies:
1) Consider only results that do not have much variance with respect to other companies’ results.
2) We should not take the worst value (of a company) into account if the value at 5% throughput loss is 10 dB higher (or lower) that the average of the other companies. For this particular case, the respective company throughput loss shall not be used to compute the average throughput loss.
3) We cannot have a conclusion if only one company submitted results. We need at least 2 companies providing results for a Case.
4) The correct average methodology between different companies should be (according e.g. to TR 36.942):
a. independently done with respect to each scenario;
b. the average should be done on throughput loss (based on different throughput loss between the companies), and not on ACIR (dB or linear, especially if the values are too different);
c. a new curve representing the averaged throughput loss (between selected companies) should be obtained;
d. finally, a (new) ACIR value is obtained at 5% throughput loss from the average throughput loss previously computed.

Proposal 3: RAN4 should not consider the worst case value (of a company) into account if the value at 5% throughput loss is 10 dB higher (or lower) that the average of the other companies. For this case, the throughput loss shall not be used to compute the average throughput loss.
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